= >
Nl = 0l & AF & H Al AN
20228 &= =& 1 g LB HEH
fM: B
Ho: F0 OE MHIA RIB(AEH)

Cel: S8XQ HEH 29 (St
2 A .2 (S H) - HEMNY - BHES 01l Ao I AR Husz
A= 1,466,188 1,366,717 99,471
=0 OHE MHIA HMZ(HEH) 225,810 196,339 29,471

SEEHQ HAEH 29 225,810 196,339 29,471
FOISMA K2(AZNH) 105,950 103,550 2,400
301 YBtE A2 105,950 103,550 2,400

0 EH-0F - ¥ES2AZ 104,150 101,750 2,400
ool&Lg 100,800 98,400 2,400
-21z20 2sAg
A 30,0002 * 20 * 13 » 12" 7,200 4,800 2,400
HH2Y o 22(HEH) 65,592 40,721 24,871
101 @124l 32,199 7,328 24,871
04 JIZtRI2R2XEES 32,199 7,328 24,871
OMYI| 2214 a2
73,2808 * 18 x 270Y 19,786 0 19,786
OMY Dl 224 2 4U0B2E2
19,785,600 * 25.7% 5,085 0 5,085
FORXNLNH SH(HEH) 19,700 17,500 2,200
201 LBt 17,200 15,000 2,200
03 A2 G H 5,700 3,500 2,200
OFQURNXIALS XX 550,0008 * 43| 2,200 0 2,200
FOIHOZA XIIHL(HEDH) 926,000 926,000 0
ZEUE NYNL(HEH) 926,000 926,000 0
ARE FO=AAY(HEH) 820,000 820,000 0
401 AlEHIZ 20 820,000 820,000 0
01 Al&H| 820,000 820,000 0
OE2 02X H|Z AH(L=120m) 3F o’ 0 20,000 A 20,000
OSEl 0r29et2! HH| 2 AH(L=40m) I3 0% 0 20,000 A 20,000
O2El HiZ=2 HH|l 2 AH(L=88m)
Z3 7,000,000 7,000 15,000 A 8,000
OXE 2B HH ZAH(A=56M) 3F o’ 0 30,000 A30,000
O=2X C2ZTEI2AHL=53m)
23 10,000,000 10,000 20,000 A 10,000
OAMNZE S EHLUGM 2|2 AH(L=200m)
3F ok 0 30,000 A30,000
O/ZE HH42 A HI 2 AH(L=100m) 3F ok 0 20,000 A 20,000
OZ20 Or=2 & H|Z AH(L=100m) 3F 0% 0 20,000 A20,000
OZ2 0r=2&Hl =2 AH(L=100m) 3F ok 0 20,000 A 20,000
O 42X Y 2 AHL=120m)
23X 15,000,000 15,000 35,000 A20,000
OZ 4 0F2 M HI 2 AH(L=50m) 25 0% 0 17,000 A 17,000
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71,898
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141,898
141,898
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70,000
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